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Lesson 27: Antiderivatives and Indefinite Integration

Lesson 27 Arhderwatives cnd IndePnite T teqration

Consider the egrua’fivn FUx) =609 .
Two ways tov interpret this!
CD -F(x\ = devivatbive of F(x)

@ F(x) = anti derivanive ot ¥(<)
Ngtation. F(x)= gJE[x)c(X
With antiderivatives start with $(3 and {ind Fé).

Ex |.&@ Dleramtiate FOO= X+ 2. F(X) = X

© Find SQXJX.
what funchioen F( has % as s deavatve ?
G)’ @/ one Such F(x) is x+2
Rut So are.
e X* e x’-l23Y4 e xT 4 (constanf
Why? Derjvative of a constant (S zero.
To aceount %r Hqijl use C as 4an ar\o}'}r(r)a consjmn-]'.

S &)XJX = XQ""C
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P]‘oce,§3 oA Frding Al He anbidenvetives Aa
Lnckian 15 called |indefinite 'lV\'l'fjr‘cd-\dr\.

re C 18 &

Densted by Loadx=Fhy+c vhe bt

Q2 S~ p
Read as I'M‘faral ot +(x)

* S iV\‘\‘-c@rM Si(jn * C _cz_)th‘l‘ah‘_]“ of-
£ regrand ‘hiEgract on
« X ih*CjP<+{4n var able

D) Hepeptiation Rule Inﬁﬂmﬁm Rule

10 = -

2 (V=0 Sodx=c

:&(M):L‘ ngXT—KX-l—C,

j%(\&ﬂx\): k(%) SL(F/(X)JX - L(Sf((XMX
= W F)+C

| Shy“"a(x::x"»\—c

S(n—rﬂxha(x: "M

() GxeAx = x" e
n |

n _ Y
SXJX_ n+ | +C
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Fx ' Find the indefinite \Vﬁeﬂ\m\

S0+ amyax -
2 ~
Y (R = X =
N/
= x®pax’? + C
3 3/2
= x> 12 2y?4c
3 3

3 L . 3/2
5 3 % C

Di Ferertiation Rule Ir\'\tﬁmﬁm Rule
d (g =co
i (SinX) =coS X

Scosxalxz SInNX + C

i :-‘ ' —_—
M&OSX\ sinx gSthAX LISX +C

f—%(’f‘ay\x\: Sec*x S sec?xdx= tanx+¢

i?_(coﬂ\: —¢se?x Cese xdX == cotx+e
X

d = ¢eex
o (seex)= <eextanx

A [csex)= - csex cotX
,Lx( )

SSfc x‘\‘ah)(,atx =SecXx+C

gcsc X CsTX dx =—CScx+C

f’&(ﬁ'x) =c” gexdx:ex-PC
_ U v
%(\M\__\\( , XS0 g_X(J.X—\h\Xl"I'L
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Ct\wmys Iphe The depvachive ot your
answer ///

Egpcadﬂ;« when \pou have JWU Sun cHigne /)

Ex 2. Bualuate Sﬁhnx-;cl $X Ay

_%_ S éinx+c-as>c)db<

- %[Mx—b S carxa(x:

~coS¥ SinX

= (~cosx+Sinxy + C

Ex 3. Bualuate 5 Xe-'-xLH AX

Sxe*‘-)'(—-\-[ Ax :SXeJX*‘ g;l‘—afx-f' ga?x

e+l
= X

=

+lplxl+x + C
e x|
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